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Political Science

Paper 11

RSEIGRCRIE]
gyutent 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

oAl ;A1 YEAUehd THRU IR (100) SgTaRt yee fSoid ofed. Uik TRl g (2)

U STRd. G@d WY Hiea.

[Maximum Marks : 200

1.

The book ‘Citizenship and Social

Class’ is authored by .................... .
(A) John Rawls

(B) Will Kymlicka

(C) Michael Sandal

(D) T.H. Marshall

Who among the following thinkers
is often taken to be a conservative

thinker ?

(A) Jacques Derrida
(B) David Hume
(C) Noam Chomsky

(D) E.F. Schumacher

‘fademfim ofe dve Fo@’ ¥ g
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(B) faa1 feraferen
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3.

Who among the following thinkers
described ideology as ‘false

consciousness’ ?
(A) Karl Marx
(B) Karl Popper
(C) G.W.F. Hegel
(D) Jean Bodin

Who among the following thinkers
introduced the concept of positive

liberty ?

(A) H.J. Laski
(B) T.H. Green
(C) J.S. Mill

(D) Robert Nozick

German social democracy developed

by :

(A) Ferdinand Lassalle
(B) Eduard Bernstein
(C) Karl Kautsky

(D) Georges Sorel
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One of the earliest thinkers to give
detailed attention to the problem of
inequality in modern civilization

was :
(A) Karl Marx

(B) Joseph Proudhon

(C) J.J. Rousseau

(D) Alexis de Tocqueville

The concept of ‘hegemony’ was

developed by ..................... .
(A) Antonio Gramsci

(B) Karl Marx

(C) David Held

(D) Hennah Arendt

Male-designed and male-dominated
institutions are the major threat to
nature, is the main argument of
which among the following streams

of feminism ?

(A) Liberal feminism
(B) Black feminism
(C) Socialist feminism

(D) Eco feminism
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SR Al THHATH T hRS
TR @&t UM=a1 Fald  sfef=an
foaEdiien! TH B Bl

(A) =rel wE

(B) S¥® g

(C) I3 wHI

(D) fferas €1 ehfact

el .

(A) st Tt

(B) hrel wieRd

(C) Sfws Bee

(D) & WL

OO TR Sholedl JEo9EE HEl &1
fremien Hial e TR, ¥ Siemere
WICATAUR! IV FATE=T &I T
e ?

(A) TRAETERT SiaK

(B) F01 guiig SiaR
(C) FHNER! SiaR
(D) TR SiaR
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10.

11.

The argument that, ‘the search for
knowledge is an expression of the
search for power’ was offered

by ceeeennnn. .

(A) J. Derrida

(B) Michel Foucault
(C) J. Habermas
(D) G.W.F. Hegel

The book titled “The Real World of
Democracy’ is written by ............ .

(A) Robert Dahl

(B) C.B. Macpherson
(C) Jeremy Bentham
(D) Joseph Schumpeter

Antonio Gramsci introduced the idea
of “historical bloc” as a key element
in understanding social change.
What does this term refer to ?

(A) The alliance between ruling
elites and the proletariat

(B) The unity of diverse social
forces under the leadership of

a dominant class

(C) The cyclical nature of historical

events

(D) The inevitability of socialist

revolution

10.

11.
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12.

13.

During the Chinese Civil War, Mao
Zedong outlined his military
strategy, which involved the use of
guerrilla warfare and the
establishment of base areas in rural
regions. What is this strategy

commonly known as ?
(A) Blitzkrieg

(B) People’s War

(C) Total War

(D) Tactical Mobilization

Who among the following wrote,
“Laws are the rules of just and
unjust; nothing being reputed
unjust that is not contrary to some

law” ?

(A) Bentham
(B) Hegel
(C) Hobbes

(D) Rousseau

12.

13.

JUN - 15225/I1—A
ot TeggT=N Hd HIS SESF AT
YEriferd shoted oS TOAES it
a1 AL S0 UHIOT WEG R

HHFIG: R WA Aes@ell Sd ?
(A) fectezrsmmm
(B) diUew @R
(C) 2 R

(D) SEUETH® HiAYaoTd
et faum &t a2

‘e € =TEE oTtuT e I eTred;
TR hTE! & FAS3d shel SITd ATal

¥ wrcaren foliuma TR w2
(A) 999
(B) &
(C) @\

D) &4
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14.

15.

16.

Who is credited with formulating the
modern concept of nation state
which possesses the legitimate

monopoly of use of force ?
(A) Plato

(B) Machiavelli

(C) Max Weber

(D) Karl Marx

In Hegel’s notion the highest

possible achievement of the mind as

expressed in social life was in ........

(A) The Contemporary Prussian
State

(B) Rome

(C) Athens

(D) Contemporary Great Britain

Which of the following thinker

promoted the idea that citizens

create state for protection of their

rights and if the state fails, they

have a right to resist ?

(A) Karl Marx

(B) John Locke

(C) J.S. Mill

(D) Mary Wallstonecraft
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14. o= AU HEGIIR HRIGR! STHeie

15.

16.

HIUME A ?
(A) =&

(B) wferamaet
(C) W der
(D) Tl e
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(A) HHREA @ T
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(B) w1 dfe
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17.

18.

19.

Which of the following author wrote
“Citizen is a free and autonomous
person” ?

(A) John Locke

(B) J.S. Mill

(C) Rousseau

(D) Jeremy Bentham

“Over himself, over his own body and
mind, the individual is sovereign”,
is a statement of which philosopher ?
(A) James Mill

(B) John Stuart Mill

(C) Jeremy Bentham

(D) Martin Luther King

Which thinker believed that the
individual right to liberty reinforces
selfishness ?

(A) Hobbes

(B) Locke

(C) Marx

(D) Engels

17.

18.

19.
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(A) S iR

(B) S.tH. fad

(C) &4

(D) ST dem
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(B) w7 wgar fia
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20.

21.

Which of the following concepts is

central to Hannah Arendt’s political

thought ?

(A) Utilitarianism

(B) Totalitarianism

(C) Libertarianism

(D) Absolutism

Who returned the ‘Knighthood’

award as a protest on Jallianwala

Bagh Massacre ?

(A) M.K. Gandhi

(B) Jawaharlal Nehru

(C) Sri Aurobindo

(D) Rabindranath Tagore

20.

21.

JUN - 15225/I1—A

WATAYeh! IO Feheddl B ARTS

I TSR fo=m=T Aegedl fa=r
e ?

(A) SYFHIATE

(B) FrRegemme

(C) AR

(D) fRuaR

STfera-aTen arF gcmehiern oY TuH

FHIU ‘AEe-gS' YEHR WA el ?

(A) TH. . TE

(B) SMARAA Hg&

(C) = srfae

(D) A TR
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22. Match the pair using the codes given | 22. @elid Fal=n AR HEA I Siedl
below : S :
List I RICU |
(@) Kautilya (@) whifee
(b) M.N. Roy (b) THT. [
(c) dJayprakash Narayan (c) SHEYRRT AR
(d) Sri Aurobindo (d) it swfeag
List II ardt 11
(1) Total Revolution (1) |qoi st
(2) Spiritual Nationalism (2) AHACHER oS
(3) Mandal Theory (3) wea fagm
(4) Radical Humanism (4) TRl HFerdER
Codes : Hehdieh :
(@ ) © (@ (@ B (© (@
Aa @ @ @O G Aa @2 @ @O @3
B 2 O @ 3 B 2 1 @ O
© 38 @ @O @ © 3 @ @O @
D 3 @ @ @ D 3 @ @ @
23. Which of the following book is | 23. Wciiciyes! UM UY . ofl. TR. 3ToSHT
written by Dr. B.R. Ambedkar ? gt fafeen s ?
(A) Ranade, Gandhi and Jinnah (A) T, e emfor fS=m
(B) Marx, Gandhi and Socialism (B) wed, et anfor g
(C) Guilty Men of India’s Partition (C) WRd™ vl TR
(D) Why Socialism ? (D) gUER & 2
11 (=] 45 [=]
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24. Choose the incorrect statement from

25.

the following :

(A) Jawaharlal Nehru was the

architect of Panchasheel

(B) Bal Gangadhar Tilak oppose
‘Age of Consent Act’

(C) Jayprakash Narayan put forth
the concept of ‘Four Pillar State’

(D) M.K. Gandhi put forth the

concept of Trusteeship

Which of the following statement is
correct about the rules listed by M.K.
Gandhi for Satyagrahi ?

(@)
®)

Must have a living faith in God

Must believe in truth and non-

violence
(c)
(d)

Must be angry with opponents

Must be a habitual Khadi

wearer and spinner
Codes :
(A) (a), (b), ()
(B) b)), (o), (d)
(©) (a), (b), (d)
D) (a), (), (d)

JUN - 15225/I1—A

24, WAAYR! AATg faum sfesen .

25.

(A) SO TEE § Ui R
TR B4

(B) e TR fecser It ‘ Aafqeraren
wearEr’ faly sen

(C) SIYHTET TRE0 Fi+1 St T’
& @ -

(D) TH. <. e It fovasd Heneu
Hieat

TH.. M I TAwREs! difideredn
T eyl Ereliates! S faum
g IR ?

(@) 1 SYOER gl SR STETEl

(b) @ TF 9 Afeder favam 3gum
ST

(c) 1 ToUrespTadl T SISO STETan

(d) @ TR g5 RO g faummn
1gTan

Hehage=it :

(A) (a), (b), ()
(B) (b), (), (d)
(©) (a), (b), (d)
D) (@), (), (d)
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26. What are the conditions put forward

by Dr. B.R. Ambedkar

for
Democracy to function ? Choose your
answer by using the codes given

below :

(@) Equality in Law and

Administration

(b) Existence of a weak opposition

(c) Instills a Passion for Liberty in

Society

(d) There is no place for the

Tyranny of Majority

Codes :

A) (a), (6), ()

(B) (®), (c), (d)

(©) (a), (b), (@)

D) (@), (), (d)

JUN - 15225/I1—A

96. EI. ®l. AN. 3TESHT I AR

TITfegdwTdt HIvTeAT ATIYITR 3T

HiftTe 3Ted ? el feeied Hehawge =

AUy sheq dHE 3l ﬁla@T :
(@) HET d YRMET AHEA FHAT
(b) FHRaa fadel gam sifae

(c) AT AT TR TS

(d) SgHATAT THATMEIC SHIVAE! €M

R
waA

(A) (@), (b), ()
(B) @), (), (d)
(C) (@), (b), (d)

D) (a), (c), (@)
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217.

28.

29.

Who says that “Kama, Artha,
Dharma and Moksha are the four

objectives of Humankind ?”
(A) Deendayal Upadhyaya
(B) Ram Manohar Lohia
(C) Jayprakash Narayan
(D) Periyar E.V. Ramasamy

Which Indian Political thinker
founded “The League of Radical

Congressmen’ ?

(A) Jawaharlal Nehru
(B) M.K. Gandhi

(C) M.N. Roy

(D) Pandita Ramabai

Which book is written by Political

thinker Barani ?

(A) Tarikh-i-Firozshahi

(B) The Causes of the Indian Revolt
(C) Asar-us-Sanadid

(D) Javid Nama

27.

28.

29.

JUN - 15225/I1—A

“wm, ¢, gd snfor W € wsaTEd
=R Sfesel emRd’’ 3™ HIv WU ?

(A) THEI SHEA
(B) T AR wifea
(C) SEAYRTYT TR
(D) @R 3. = e

IV YR TSieh 19 fommad ‘ fa &
ATk fedhd HIUTHT = TAYT el ?

(A) AR A&
(B) WH. . TR
(C) TH. ™. 9

(D) ufear e

SR faared sl I Shivar U9

fafeen s ?

(A) TRIE-T-TRUSTemet

(B) T &o9 % g sfeam e
(C) ITE-3IF-TAfT

(D) fferg =
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30. Which of the following statements

are correct with regard to

Jayprakash Narayan’s Total
Revolution. Choose your answer

from the codes given below :

(@) Jayprakash Narayan wanted to
eradicate corruption from

India’s Political and Social life.

(b) Total Revolution is a
combination of seven
revolution.

(¢) Aim to Total Revolution is to
bring change in society on the

basis of Sarvodaya values.

(d) Total Revolution promote to

centralization of political power
Codes :
A) (a), b), (d)
(B) (®), (), (d)
(C) (o), (d)

D) (@), b), (c)

JUN - 15225/I1—A

30. WIeieTdeh! STEYRTST R0 FieaT Fqut

ST foemmeht 9 o9 faum s
3Mg ? @ett feeiedn TaEmya e 3™
IRESEE

(@) WA= USTeh 1 o HHTTSI STTeT
TR THS Iode § STAYHT]

AR I ST 8.

(b) EYUl I & WA HicA™ T
il

(¢) YUl Shidrea HIEATRE FHISTHE
Faled FeieR TG e Jeaq
STOTOY

(d) |l sidl & ST =

SR EERR .
Hehdich
A) (@), b), (@)
B) ), (), (d)
(C) (), d)

D) (a), (b), (c)
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31. Identify the correct statement : 31. a9y faum oNemn
A) New Institutionalism focuses on . )
(&) New Institutionalism focu (A) 7 GETH T TEHHTOT STl
formal institutions of o
fg=niier TEAE W A
Government
L. . (B) TTATCHIHIUT HEAT=AT HTATSTH
(B) Institutionalism focuses on
developing a sociological view of gfscshireAT foshrer SR <d
institutions . . ..
(C) 99 TEATHTRATCHTHRIIT HET=AT
(C) New Institutionalism focuses on & S & -
developing a sociological view of
<d
institutions
oL ) ) (D) 7o FEATHEATCHIHLI 199 TIdehTd
(D) New Institutionalism rose in
19th Century RIS
32. Which type of Anti-colonial struggle | 32. 3ffthendlcl @R @l hivrea
was witnessed in Africa ? TR BT ?
(A) Non-violent (A) g
(B) Armed (B) T
(C) Democratic (C) e
(D) Revolutionary (D) FHifqFr
16
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33.

34.

35.

Identify the correct event that led

to nationalism in a European state :
(A) Great Britain : Magna Carta
(B) France :

French Revolution

(C) Germany : Dissatisfaction of

elite
(D) Italy : Victory of Giorgia Meloni

Whose objective is to create a new
man who will sacrifice Bourgeois

values ?

(A) Mahatma Gandhi
(B) Lenin

(C) Mao Tse Tung
(D) Fidel Castro

Who was the last military dictator

in Pakistan ?

(A) Ayub Khan
(B) Yahya Khan
(C) Zia Ul Haq

(D) Pervez Musharraf

33.

34.

35.

JUN - 15225/I1—A

FA [T TZATETe ShRUTYd SR
AT STes@n :

(A) U2 faeq : dm 1 et
(B) W : e oIl
(C) SHAT : ARYSHMET A

(D) seait : e HalHren fosm™

Ssa Fed faarsiet Sum ‘e JE’

TSIU T R I B ?
(A) were e

(B) «fH

(C) wisht & qn

(D) frsa Al

TSR eI STere=l TRl GoRHTIRT iUl

B ?

(A) HAgd @
(B) am&n @M
(C) fo=m a1 &=
(D) WeF HIRE
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36.

37.

Identify correct statement in relation

to Emergency powers in India :

(A) The federal nature of Indian
state is transformed in the
unitary form when emergency

is declared through Article 352

(B) Through Article 356 emergency

can be declared for economic

crisis in India

(C) Punjab was the first state where

emergency was declared

(D) Golaknath Case was related to

emergency

Who is considered the founding

father of Bangladesh ?

(A) Yahya Khan

(B) Sheikh Mujibur Rahman
(C) Zahurul Haq

(D) Mufti Ahmed

36.

37.

JUN - 15225/IT—A
WISl ST SRR Hewid
Iy faum slesEn

(A) &9 352 R SO0 =i
Hegel RAE TSI 6

THIA B

(B) %" 356 gR dard AT
ARGE! ool =i el s
NET]

(C) UST T Ufeet TS 318 Y ATfr=oft
SER H{0gE STl

(D) TAHTY Rl AU Heiferd
B

SMARLE HEATTSH D0 AFA S ?
(A) AR B

(B) 3@ HuilsR EHH

(C) @g®d &h

(D) qwi TEHS
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38.

39.

40.

Which Financial Institutions
provided helping hand to all the

Developing Countries ?

(A) Reserve Bank

(B) Bretton Woods institutions
(C) Asian Development Bank

(D) UNICEF

Which is the disadvantage of
concentration of power in elite class ?
(A) Restricted political participation
(B) Accountability

(C) Sustenance of democratic values
(D) Efficiency

Identify the correct statement :

(A) Independent electoral
machinery is essential in liberal

democracy

(B) The head of electoral machinery

is elected in liberal democracy

(C) In liberal democracy Political
Parties control Electoral
machinery

(D) In liberal democracy Electoral

machinery is not essential

38.

39.

40.

JUN - 15225/T1—A
Fuen foaxia wxerdt wd fasmesha
QAT Hedrn g fean ?
A) ferd <=
(B) ST IF weA
(C) TRIer Segeqie s

(D) IE®

ARSI TTeh e =TT ehigd SiTelt a8 o=
qrRl Hivr ?

(A) wifCd TSTehtd FEHH
(B) SeT&ERI

(C) AIhYME A RO
(D) &

Ay fau efesen :

(A) SSRETER! RN sl eIk
RELINCICEECCHT

(B) SERHEAART alsymaa e

o yqE freed Aa
(C) RRHAAE] TRIME TSTehid q&

EEEL CEELIMERIECECIGIR

(D) RRATER! AR (IR Fom
EICRREIE I
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41. Choose wrong option : 41. o= @@ fHaer

(A) Sir James Stuart Denham : 1767 (A) T I LR AW : 1767 ‘M
‘An Inquiry into Principles of sFaA e fafmusa &1fw®
Political Economy’ gifdafeswme sehiA

(B) Adam Smith : 1776 ‘An Inquiry (B) efeH foe : 1776 ' 319 T 592
into the Nature and Causes of T R i FEH A Jo¥ A
the Wealth of Nations’ T’

(C) Rudolf Heberle : 1951 ‘Social (C) TeIeh gl : 1951 'ERTA Jeghe
Movements An Introduction to a9 ggiewrH g Wifafewd
Political Sociology’ SUNEISIEN

(D) Lorenda Von Stein : 1840 ‘The (D) ST ATE : 1840 ‘T fewdt o1
History of Movement in France’ 'ﬁiiz ERl ARk

42. Which factor has been emphasized | 42. 39. 2012 #&4 Ref-T-MU 49 R
in the Earth Summit held in Rio- Teoiedl gl firer aftsemed wivren
de-Janeiro in 2012 ? FEHRER W QUA Il 38 ?

(A) Building political consensus for (A) vYed farE™EEr UShia T8l
sustainable development Taesfaoy

(B) To curb carbon emissions (B) <hreF IS U@

(C) Decreasing the layer of ozone (C) AT X HHl HL

(D) Building a global consensus on (D) e ot SNTfae Feudr
carbon credit ERCU

20 [=] 1 [=]
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43. Who among the following is involved | 43. IIdhr=l FIRHEA IO
in the pact of the century ? T 3T 2
(A) SOCAR and British Petroleum (A) sERaSTHHE SR et fder
in Azerbaijan et
(B) SOCAR and American (B) STERASTHETE Wehs 7for sfkend
Petroleum in Azerbaijan ECSRE|
(C) SOCAR and British Petroleum (C) whgmshtaraee diehy for fordrer
in Kazakhstan LGSR
(D) SOCAR and British Petroleum (D) SSTefhEaaee TRt AT fereien
in Uzbekistan Yaiferm
44. Which wuniversity has been | 44. 9YRIH dfg= WERER oy fawfad
developed to develop India’s FATES! v foamdiarT fasm™ shet
relations with Buddhist countries ? e ?
(A) Delhi University (A) feeedt fommdia
(B) Nalanda University (B) Treien fommds
(C) Takshashila University (C) qersfien fa=mdis
(D) Buddhist University (D) dig faemds
21 (=] 45 [=]
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45. Recognize incorrect pair : 45. el SET esEn
(A) BRICS : 2009 (A) fo=g : 2009
(B) SAARC : 1985 (B) | : 1985
(C) OPEC : 1963 (C) 3T : 1963
(D) ASEAN : 1967 (D) EFIE @ 1967
46. Which of the following conferences | 46. feal WeMNRIdlal 3Tdelt yfyen Tose
was held by India to clarify its role TFHIOETS YRAH SeAeUeh! hivwdt TRg
in the Indian Ocean ? el ?
(A) Indian Naval Symposium (A) sfead "ea fawdifsem
(B) Indian National Council (B) sfed™ e ditee
(C) Indian Strategic Council (C) sfega wmie aftoe
(D) Indian Strategic Symposium (D) sfeaa wmfer fawifem
47. When was World Trade | 47. SNfaeh IR oA shogl T HATH 2
Organization established ? A) T 1995
(A) Year 1995
(B) =8 1996
(B) Year 1996
(C) Year 1997 (©) = 1997
(D) Year 1998 (D) = 1998
22
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48.

49.

50.

‘Look East Policy’ was formulated by
which of the following Prime

Ministers ?

(A) Rajiv Gandhi

(B) LK. Gujral

(C) P.V. Narasimha Rao

(D) Manmohan Singh

The primary objective of TRIMS is :
(A) Growth of Trade

(B) Similar transactions with

domestic and foreign companies

(C) Control over Multinational

Companies
(D) Increase in trade in goods

Which American President added
fuel to the fire of the Neo-Cold War ?

(A) Kennedy
(B) Nixon
(C) Reagan

(D) Carter

48.

49.

50.

JUN - 15225/I1—A
JAUEMET TR hell oidl 2
(A) TS e
(B) M@. &. TR
(C) W = Waw @
(D) wHre
TRIMS < q= 3= 1% :
(A) =HIEE= 9@
(B) 3t emfon fodeft swo=nell w@M
AT

(C) g™ &Y= =0

(D) IE= FNRE e

L

TEI1 YMAGGHES vl ST
oA Fa-agGr=a1 d da
AU M el ?

(A) ®Et
(B) feA
(C) TH

(D) 1T

ch
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51.

52.

53.

Which of the following are not the
features of Indian foreign policy ?
() Mutual cooperation
(z1) Peaceful cooperation

(zi1) Respect for mutual sovereignty

(tv) Expansionism

A @, @), @)

B) @, @), Gv)

© @, @@, @), @)
D) @)

In which year Indo-USSR signed the
treaty of ‘peace, friendship and

cooperation’.
(A) 1971
(B) 1972
(C) 1973
(D) 1974

Choose the correct option regarding
ASEAN :

(A)
(B)

It was established in 1976

There are six members in
ASEAN

(C) India is the founding member

of ASEAN

(D) ASEAN was established in 1967

51.

52.

53.

JUN - 15225/I1—A

TR TS SR WTeiieTdeh! hioTdl
afyr=y e ?

() UWER g
(i) YAaEd gehr
(i) TER T 3Tl

(v) faearar

A @, @), G

B) @, @), G@v)

C) @&, @), @), (>v)
(D) Gv)

IO T HRA-JUHCESRA * i, it
A1foT TR’ A FHIRER Tl shedl ?

(A) 1971

(B) 1972

(C) 1973

(D) 1974

A wewia ara 93y feren .

(A) TEATET 1976 AL TAYAT STl

(B) STHaMwed Wel We&d 3Ted

(C) 9RA B STEAMD FEAIHh GG
e

(D) STfEar= T 1967 |3 el
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54.

55.

56.

When did India accept Partial Test

Ban Treaty (PTBT) ?

(A) 1962

(B) 1963

(C) 1964

(D) 1965

‘Gujral doctrine’ is related with :
(A) India’s nuclear policy

(B) India’s energy security policy
(C) India’s environmental policy
(D) India’s foreign policy

Choose the correct pair regarding

SAARC summit.

(A) First summit—Kathmandu
(B) Second summit—Dhaka
(C) Third summit—Bangalore

(D) Fourth summit—Islamabad

54.

55.

56.

JUN - 15225/I1—A
R Af3res ==l set s (PTBT)
He TR ?

(A) 1962

(B) 1963

(C) 1964

(D) 1965

“eRre fagra’ areh gefid eme
(A) 9Rar efres R

(B) 9RAm el LTGRO0

(C) ARar TR €

(D) YR W ERI

ek ferer gftecerea 9rg St frae
(A) dfeett R ufvg—=hienrg,

(B) T ferer aftsg—arent

(C) faedl ferer 9itog—aige

(D) el fIrer qfioe —seaHee
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517.

58.

Choose the incorrect option

regarding United Nations.

(A) India is the founder member of

United Nations

(B) Vijaya Lakshmi Pandit served
as the President of United

Nations General Assembly

(C) India is the permanent member
of United Nations Security

Council

(D) India is a major contributor in

United Nations Peacekeeping

Missions
In which year the
Intergovernmental Panel on

Climate Change was established ?
(A) 1985
(B) 1986
(C) 1987

(D) 1988

57.

58.

JUN - 15225/I1—A

T TR Haed gehian i faret.

(A) TR B HIH T GEATTh T
e

(B) forsran wrest ufed =it wgert Tegr=n
A=A ALY WA HH liee]

(C) YR TIF TS YRaT uiue=n Tt
S 3R
(D) §ga TSreAT Indal HifgHiHed

Y™ HIS ANEN 318

AN (aV hd (aV
ch Yl Ll AHIH dgaiarie] HIARIIHen (A

Yol TIMOAT HI0A AT 2

(A) 1985

(B) 1986

(C) 1987

(D) 1988
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59.

60.

61.

The ethnic group of the Uighur

people belongs to which country ?
(A) Myanmar

(B) Bangladesh

(C) China

(D) Vietnam

The Teesta River dispute is a
dispute between which of the

following two countries ?
(A) India-Pakistan

(B) India-Bangladesh
(C) India-Nepal

(D) India-China

In which of the Article of Indian
Constitution there is provision that
the State shall take step to separate
the Judiciary from the Executive in

the Public services of the State ?
(A) 55
(B) 52
(C) 56

(D) 50

59.

60.

61.

JUN - 15225/TI—A
FHEI kT TR T BT hIv QLR
Heiferd a8 ?
(A) =R
(B) aTTeesT
(C) =M
(D) feeua™
ferea it forae @1 wedterieht i SH
eximee foare R ?
(A) WRA-TIfRE
(B) YRA-SNTARE
(C) WRA-+ued
(D) HRA-=H
[T ARHATHE RN AATIRA
IR AT AT o8 SRS

FA R TS TS RV
FHAAFE herel IS ?

(A) 55
(B) 52
(C) 56

(D) 50
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62.

63.

The pay of Comptroller and Auditor
General is equal to the pay of .........

(A) President

(B) Chief Justice of High Court
(C) Judge of Supreme Court
(D) Vice-President

Which of the following statements
are incorrect about Committee on

Public Undertakings of the
Parliament ?
(a) The Chairman of the

Committee is appointed only
from amongst its members who
are drawn from the Lok Sabha.

Pandit Nehru
recommended about creation of
this Committee in 1963.

From 1974, there are 15
members elected from
Lok Sabha and 7 members
elected from Rajya Sabha.

b)

was

(c)

(d) The tenure of members of this

Committee is of two years.
Answer Options :
(A) (a) and (b)
(B) (b) and (d)
(C) (¢) and (d)
(D) (b) and (c)

63.

JUN - 15225/I1—A

(A) Yot
(B) 3= <A LTINS

(C) Taled e =TS

(D) YL

TS AW IUHH  AfAdiered
WTeleush! geha faem ot med ?

(@) kIR fAagT AT
ASEHYAS A1 iadral seae

Hereen <.

Gfed e AT a1 Siten ffbd=h
RTPE 1963 T el

)

() 1974 U THEIHET 15

THEIHYT 7 W A1 WiHdie
REESASISIGH

(d) = afad=n gcer=n wEdses gF
qufEr STl

it W

(A) (a) 30T (b)
(B) (b) =0T (d)
(C) (c) 20T (d)
(D) (b) = (c)
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64.

65.

66.

The Election Commission has given

Constitutional status in the

Part of the Constitution of India.
(A) 6
(B) 10
(C) 13
D) 15

Who said that the Indian federalism

is Cooperative federalism ?
(A) Morris Jones

(B) K.C. Wheare

(C) Granville Austin

(D) C.F. Strong

The principle of Basic structure of
the Constitution is propounded by
the Supreme Court of India in the

following Judgement :

(A) LR. Coelho Case

(B) Golaknath Case

(C) Keshavananda Bharati Case

(D) S.R. Bommai Case

65.

66.

JUN - 15225/I1—A

(A) 6

(B) 10

(C) 13

D) 15

TRATE oo & Wehil HErsy'! e
Y I WO ?

(A) A9 S|

(B) .41 =W

(C) vl ifeed

(D) W.UH. WM

TSEeA qRIYd TXa T § T Hared
AN W] hivre
Fofamed wfawfea s ?

(A) 3ME.3N. HITeal Tl

(B) TicTehel @
(C) HIEME IR Tl

(D) TH.SR. &7 e T
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67.

68.

Which Act has made the Governor—

General of Bengal as the Governor—

General of India ?

(A) Regulating Act of 1773

(B) Charter Act of 1833

(C) Charter Act of 1853

(D) Government of India Act of 1858

How many seats were won by the

Unionist Muslim Party in the

Constituent Assembly election ?

(A) 73

(B) 01

(C) 08

(D) 05

JUN - 15225/I1—A

67. HIV HIFI ST g B

TR Mg - Sel 2

(A) 1773 =1 Tl e

(B) 1833 =1 =Y R

(C) 1853 =1 =R 3R

(D) 1858 =T Teg-He 3% sfean 3T

68. et g™ el 7 wiaum a9=n

faeueia fodt ST fSeean ?

(A) 73

(B) 01

(C) 08

(D) 05
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69. Which of the following sentences are

correct ?

(@)

b)

(©)

The President can pardon
sentences inflicted by Court

Marshal.

The Governor also can pardon
sentences inflicted by Court

Marshal.

The petitioner for mercy has no
right to an oral hearing by the

President.

(d) When the earlier petition of

mercy has been rejected by the
President; stay cannot be
obtained by filling another

petition ?

Answer Options :

(A) (a), (b), (d)

B) (e), (b), (@)

©) (@), (o), (@)

D) (@), b), (o), (d)

JUN - 15225/I1—A

69. Wreiladest Ay faum fHeer

(@)

®)

(c)

(d)

LT SIS AT HfFen! =maTerad

e foeen SEia 9% e

RMehdld.

TSI STl ke Aied Afen!
I See f8e <= qrh

& Tchdld.

AT, ATIAT HIOM=AT AT GRIAT
TR Hifersh FAraft v
eFh L.

Segl TS 3TeTE &THE=H
IS heTaell ST T -l Thal 37si
Fed ey wufidt faasfoar Jom
e

it I :

A) (a), (b), (@)

B) (o), ), (@)

©) (a), (o), (@)

D) (a), (B), (c), (d)
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70.

71.

72.

The provision of establishment of
Gram Sabha is in which of the
Article of the Indian Constitution ?

(A) 243

(B) 243 A
(C) 243 C
(D) 243 D

Which of the following statement is

true ?
(A) Right to Education Act — 1947

(B) Announcement of Mandal

Commission—1967

(C) Announcement of LPG Policy —
1991

(D) Right to Freedom—2001

Which of the following caste group

is ‘Dominant Caste group’ ?

(A) Patel, Maratha, Reddy, Jatav
(B) Patel, Maratha, Reddy, Mahar
(C) Patel, Maratha, Reddy, Kamma

(D) Patel, Maratha, Reddy, Dhobi

70.

71.

72.

JUN - 15225/I1—A

YR TS HE] UHE = TS =
TS IV e 318 ?

(A) 243

(B) 243 &

(C) 243 7

(D) 243 =

Treiiere! HIvd faem steR e ?
(A) Torgomen gsm - 1947

(B) Hed AT SIO0M-1967

(C) TA.W.SH. (SRR, TSR,
STRTfehIeRTOT)  BTSOM-1991

(D) @A §Fh-2001

Teieeh! I ‘S T’ FYceTed

A e WA e S ?

(A) ¥, wa, I, Sed
(B) wed, W&, {§I, HeR
(C) wed, wel, g, HH
(D) 9o, T, I, et
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73. Which of the following is Union | 73 AR T SETAd TR ST 2
Territory ?
(1) ShITHR
(1) Kashmir
(2) Jammu 2) ==
(3) Ladakh (3) werE
(4) Daman and Diu (4) T enfor fom
(A) (1) and (2) (A) (1) 3mfor (2)
(B) (2) and (3) (B) (2) =nfor (3)
(C) (3) and (4) (C) (3) =fur (4)
(D) All of the above (D) =t w&
74. Assertion (A) : 74. fagam (A) :
In Indian politics ‘Decline of RAT ST IS &R Sfshan T,
Congress’ took place. ®)
Reason (R) : ‘ o
19901 QRIehld  SYhTgd  STsh U]
In 1990’s State-centric politics - S
became important. ‘
Hehadell :
Codes :
: . (A) (A) IR =1E 901 (R) & I 3%
(A) (A) is true but (R) is false
(B) Both (A) and (R) are true and (B) (A) \?&T(R;q'ﬂél qii:l;;lsd ST
(R) is reason of (A) R) & (A) & SR
(C) Both (A) and (R) are false (C) (A) =7 (R) Srdt <ok 3Aed
(D) Both (A) and (R) are true but (D) (A) 3TfT (R) Tal SeR 3TTed U1
(R) is not reason of (A) R) 8 (A) = RO &I
33 oki0|
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75.

76.

7.

Who was related to centre dominated

federation ?

(A) Mahatma Phule

(B) Dr. Babasaheb Ambedkar
(C) Mahadeo Govind Ranade
(D) Mahatma Gandhi

Which of the following is New-Social

movement ?
(A) Worker’s Movement (1901-1950)

(B) Peasant’s Movement (1950-
1970)

(C) Women’s Movement (1901-
1950)

(D) Ecology Movement (1970

onwards)

Who was related to economic reform

policy in India ?

(A) Jawaharlal Nehru
(B) Lalbahadur Shastri
(C) Narsimha Rao

(D) Gulzarilal Nanda

75.

76.

77.

JUN - 15225/I1—A
TICAAUHR! I g FYE G
Hafa o ?

(A) HeHl |

(B) Sf. MRS Mg
(C) TeRd Tfag TS
(D) HereAT et

Wecdeh! Il 9 IS HBds
3T ?

(A) SR F3des (1901-1950)
(B) ¥dwdl F@B9es (1950-1970)
(C) fomm=i T=@ae (1901-1950)
(D) RgT Fesaes (1970 )

IRATIA ST GUROT SRome <oy
efed 3 ?

(A) SERIATA H8&
(B) Tersleigy Tt
(C) Wfamr 1=

I ISEINCIKIEE
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78. Match the following list of political

leader and their respective political

party ?
List I

(@ M. K. Stalin

(b) Chandrashekhar Rao

(¢) Mamta Banarjee

(d) Omar Abdulla
List II

(1) National Conference

2) DMK

(3) Bhartiya Telangana Samiti

(4) Trunmul Congress

Codes :

@ ® © @

A 2 6 @ @

B) 1) 2 G &

€ @ B3 @ @

D B @ @ @

JUN - 15225/I1—A

78. TSThIA AGcd TSTehi UeT At 4 St

Sesdl ¢

gt 1

(@ . & Efa

(b) TSR A

(c) YT SSit

(d) 3 STgeell
e 11

(1) ¥¥Fe IR

2 % 4 &

(3) YR derTon |k

(4) JUEE R

. K3
.
.

(@)

A) @)

B) @)

€ @

D) 3)

)

3

(2)

3)

(4)

) (@)

“4) @

3) @

@) @

2 Q)
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79.

80.

Which of the following statement
about Chief Minister and Prime

Minister is not correct ?

(A) V.P. Singh was Chief Minister
of Uttar Pradesh and Prime

Minister of India

(B) H.D. Deve Gowda was Chief
Minister of Karnataka and

Prime Minister of India

(C) Narendra Modi was Chief
Minister of Gujrat and Prime

Minister of India

(D) LK. Gujral was Chief Minister

of Punjab and Prime Minister

of India

Which of the following is recognised

as leftist Political Party ?

(A) Indian National Congress

(B) Bhartiya Janta Party

(C) Communist Party of India (M)

(D) Nationalist Congress Party

79.

80.

JUN - 15225/I1—A
Tttt qEIHst AT gagHm
FrATEETe a9 ST SR

(A) =L o SRy gersh |9

ORArd Yque™= B

(B) . €l TSI § FHleshs HEAwsi

9 YRAE Ga9eE B

(C) 5 AT T oI GeaHs 9 YRa

Tqye™  3Ted

(D) & . oA § USTee Jeawsi

9 YRAE Ga9eE B

ETATCTYeh] IO &7 STaT TSTehid e

U 3les@etl Sar ?

(A) RAE T HE

(B) WRdE el &t

(C) W Wr=eE! qe (Hederet)
(D) qrgemel iU e
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81.

82.

83.

Managers are called as ‘knowledge

workers’ by ......cccceeeeennnns .
(A) Peter F. Drucker
(B) Rensis Likert

(C) James Buchanan
(D) Chris Argyris

Who among the following is the

editor of the book ‘Public

Administration in a Time of

Turbulence’ ?

(A) Frank Marini

(B) Dwight Waldo

(C) Mohit Bhattacharya
(D) John Honey

Who among the following thinker
shares the integral view of public

administration ?
(A) Henry Fayol
(B) Herbert Simon
(C) Thomson

(D) Luther Gulick

81.

82.

83.

JUN - 15225/I1—A

TR FH HHR U
(A) diX TH. gL

(B) =g fase

(C) S¥ g&HMA

D) few it

s THAH' A Y HUEH B
e ?

(A) W HIRA
(B) gdmrEe dreel

(C) Hifgd vgr=md

(D) S &

AN A ~ o o~
CllcAdlcAlHen o lUHEl 49X Hld sl eh

RSl FeeAdt gftesh 3Ty ?
(A) T A
(B) 7o WA

(C) g9mEd

(D) TgR Tfeteh
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84. Who among the following thinkers 84. WA BT Farads gus 7 = e
mentioned that, ‘Conflict is neither et T el fon = 3 —
good nor bad, and it should not be

Hell WS T4’ 3 Wed e ?
ethically judged’ ?
(A) M.P. Follet (&) T . e
(B) Elton Mayo (B) weed
(C) Chester 1. Barnard (C) WX M. wHiE
(D) Dwight Waldo (D) <aTse 9

85. Who among the following has given | 85. Wrefictusht s1ont ‘ 3R’ sfor ‘S’
the typology of ‘Agraria’ and T e ool e ?
‘Industria’ ?

(A) HHF e
(A) Max Weber
(B) hTad Sle¥l
(B) Karl Deutsch
(C) Alvin Gouldner (©) sfeer TMesT
(D) F.W. Riggs (D) Th. o=y, o

86. Who among the following is regarded | 86. WIciiciueh! IVl STHNHT ek FIMTEAR
as the father of American Public e EE A 7
Administration ?

. (A) g2 o
(A) Woodrow Wilson
(B) L.D. White (B) T 2. =
(C) Frank Goodnow (C) % [T
(D) Herbert Simon D) T FHEA
38
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87.

88.

89.

Who among the following pioneered

the field of ‘Cybernetics’ ?
(A) Henry Fayol

(B) Norbert Weiner

(C) Chester Barnard

(D) Herbert Simon

Who defined power as ‘The

probability that one actor within a
social relationship will be in a
position to carry out his own will,

despite resistance’ ?
(A) M.P. Follett
(B) Herbert Simon
(C) Max Weber
(D) Peter Drucker

Who among the following gave the

theory of maturity-immaturity ?
(A) Douglas McGregor

(B) Chris Argyris

(C) Frederick Herzberg

(D) Rensis Likert

87.

88.

89.

JUN - 15225/I1—A
TICATAUR! v FEeRAfe &
YA AE el ?
(A) T wI
(B) Tfele AT
(C) IR s
(D) T WEHA
‘HidehR STEAMTE! TEE! oaekil HIHTSTeh
T STICaT STSTHTU SN0 STl
3TEA’, TN HH! A FIU el ?

(A) TH. . W
(B) Bele WA
(C) Hg dr

(D) dleX ght

TIeTAeh! I qRugedr- TaRuaad=
fagia Areen ?
(A) 9 HRIR
(B) fow wifw
(C) wefte wefart

(D) g fa=wd
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91.

92.

....................... can be credited with
introducing comparative study of

Public Administration.
(A) Frank J. Goodnow
(B) F.W. Riggs

(C) Woodrow Wilson
(D) Elton Mayo

Which among the following writ
provides a remedy for a person

wrongfully detained ?

(A) Writ of Habeas Corpus
(B) Writ of Mandamus

(C) Writ of Certiorari

(D) Writ of Prohibition

Which Model of

economic
development was implemented in

India in the fifties ?
(A) M.N. Roy

(B) Hayek

(C) Mahalanobis

(D) Jayprakash Narayan

JUN - 15225/I1—A

90. WS JRTHATET qrAeh A &

91.

92.

(A) T 9. TS

(B) Th. Ty, fos
(C) g8l faesd

(D) Teed ¥4

TTCATCTUsh! hIVIT 3TQYT Fehl=aT TG

qreATd Bdcied] SRSl 3 FgU[H

SO Sl ?

(A) =& FA&fR

(B) THRH

(C) ScH&m

(D) wfasy

aTfores foehmare oG Weq =i
TR A f0dd 3l Bid - ?
(A) TH. T 1T

(B) T&%

(C) Hereritsd

(D) SIYhRT TRHU
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93.

94.

95.

Jawaharlal Nehru’s concept of Mixed

economy Model includes :

(A) Socialist idea

(B) Liberalization idea

(C) Privatization idea

(D) Internet Governance Idea

Which of the following Commission
for the first time recommended for
the appointment of Lokpal and
Lokayukta ?

(A) First Administrative Reforms

Commission

(B) Second Pay Commission

(C) Union Public Service

Commission

(D) Second Administrative Reforms

Commission

Who was the Chairman of 2nd

Administrative Reforms Commission ?
(A) Veerappa Moily

(B) Vasantrao Naik

(C) P.B. Patil

(D) Baburao Kale

93.

94.

95.

JUN - 15225/I1—A

STeTelalTdl T THe STefeeen yreara
FE AR e ?

(A) FHER! HeheqT
(B) ST HehoUdl
(C) TSTTeRIo HehoUd

(D) T TEAHEER FhHeal

IATeTUehT ShTUTCHT STENT Sk dTel 3107

TR AT TgiEer qom RTeRd
et ?

(A) ufgell USRI RO SN
(B) & IF RN

(C) =hsrd wlrenden ST

(D) THU USTHRE HHRON 3R

TEA1 YIHehT RO SRR STeA&
I Bd ?

(A) RO Higelt

(B) SH®E AEh

(C) Wit uRia

(D) =T e
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96.

97.

NREGA can be seen as a step

towards :

(A) The legal enforcement of Right

to Work

(B) The legal enforcement of equal

wages

(C) The legal enforcement of Right

to Education

(D) The legal enforcement of Right

to Information

Which Article of the Constitution of
India states that the Union Cabinet

is collectively responsible to the Lok

Sabha ?

(A) Article 75 (3)

(B) Article 74 (1)

(C) Article 75 (2)

(D) Article 75 (1)

96.

97.

JUN - 15225/I1—A

TS I FROMEG TH T

WA Tifgdd S IEhRd ?

(A) &A= ATTHRET HTEARIMT
CERERICE]

(B) THM I HIASYIR STHASISI0N

(C) Teeqor BorenT=l SHTIRIM STHASISITE0T

(D) A1fgdt  rferawr=Et HTIRINT

AT

Hsa wiaHeer dwaden aHfes

SETEGR SO TG WA TsTee =

HIUHT FHAHT FTael e ?

(A) eH 75 (3)

(B) %™ 74 (1)

(C) se™ 75 (2)

(D) ®e™ 75 (1)
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98.

99.

100.

Which of the following is a non-
political factor of public policy

formulation ?
(A) Legislature
(B) Election

(C) Executive
(D) Civil Society

Who puts more focus on the

processes in Public Policy ?
(A) Governance

(B) Revolution

(C) Military

(D) Guerilla War

Who plays an important role in

increasing an organization’s

transparency and accountability to

its stakeholders ?

(A) Private Security Agency
(B) Nepotism

(C) Patronage

(D) Social audit

98.

99.

100.

JUN - 15225/11—A
WeATeAteh! Frasi—er € fAfy=d fam
TSThIE HIETH I 3R ?

(A) FEHSS

(B) fereven

(C) R

(D) T G

st RO FfhameR Sivl e
Y whfgd H ?

(A) TMETATRR

(B) hIdl

(C) &=

(D) IReen g5

e GEI UResteRar i fa=

YRR Y] SRS AT@avdTd hiv=

wEwemEl e e ?

(A) TSt gRE Fon
(B) EIRTOTIES

(C) U=
(D) | ST
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